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B Activities

1.

(@) Outline the economic use of the following terms:

e opportunity cost

e production possibility frontier

(b) State the assumptions upon which we base use of the production possibility curve.

Draw the production possibility frontier that arises from the combinations provided below.

Consumer goods | 100 | 80 | 60 | 40 | 20 0
Capital goods 0 10 | 20 | 30 | 40 | 50

Hint: Keep these points in mind when you are drawing graphs:

* Use an equal interval for your scale. If you are using intervals of 10, for instance, don’t write
0, 10, 20, 60, 80, 100.

*  Always label each axis to show what it is you are plotting.

e Don't forget a title for your graph.

() What is the opportunity cost of increasing the combination of 40 consumer and 30 capital
goods to 80 consumer goods, while still maximising resource use? Show this with arrows
on the graph you have drawn.

(d) Look at the graph which follows.
() Isit better to be producing at point A or point B? Explain your answer.

Apples

Oranges




image2.png
B Activities

(i)  Referring to the graph which follows, is a wastage of resources occurring at point A, B, C or
D? Explain your choice.

Apples

Oranges

(i) Consider the graph above. What point is unobtainable given present levels of technology
and resource use?

Give a reason for your opinion.

(e) Construct a production possibility model from the information which follows.

Food 0 1
Machinery 12 10

()  Mark on the diagram the combination of 2 units of food and 4 units of machinery. Call this
point A on your graph.

What can you say about a country producing this particular combination of food and
machinery in terms of efficiency?

The demand for food remains the same, but demand for machinery increases to 6 units.
Mark this combination on your curve and call it point B.

Comment on the movement from point A to point B. What does it mean?
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(f) Circle the correct answer which relates to the following graph.

200

Consumer goods
® B 9
3 8 8

h
S

0 20 40 60 80 100
Capital goods

The opportunity cost of increasing the production of 40 consumer goods at point A to 80
consumer goods is:
J 40 capital goods
K 40 consumer goods
L 20 capital goods
M nil, as there is no opportunity cost.
(9) You go to the movies on Saturday night with your friend.

() What was the opportunity cost of this decision for you?

(i) Will the opportunity cost for going to the movies always be the same? Explain.

(i) s the opportunity cost the same for your friend? Explain.

(h) Consider the graph below.

20)

Apples

20 40 60
Oranges

There is an increase in demand for apples. The opportunity cost of doubling apple production
would be:

J 20 oranges
K 40 oranges
L nothing
M

impossible to calculate.
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2. (a) What is the most likely reason for the movement in the graph below?

Sheep

Wheat
increased consumer demand for wheat
discovery of a new high-yielding wheat variety

a virus sweeping through the sheep flock

z - x <

a shift in producers’ preference from sheep to wheat.
(b) Consider the graph below.

Capital goods
—

-
Consumer goods

The movement from A to B could have been caused by:

J  aswitch in demand from consumer goods to capital goods

K aswitch in demand from capital goods to consumer goods

L animprovement in the technology of producing capital goods

M an increase in resources suitable for the production of capital goods.
(c) Consider the graph below.

Goods

Services

A movement in the production possibility frontier as shown could have been caused by:
J  afallin demand for both goods and services

K technological advances in the production of both goods and services

L  population increase
M

a major earthquake.
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(d) () From the information provided below draw a production possibility curve.

Bananas 0 | 10 | 20 | 30 | 40 | 50
Peanuts 150 | 140|120 | 90 | 50 | ©O

Farmer Finnegan reclaims land from a swamp. It is perfect for growing bananas, but not peanuts.
The potential for bananas changes and possible combinations now are as follows:

Bananas 0 | 20 | 40 | 55 | 70 | 80
Peanuts 150 | 140 | 120 | 90 | 50 0

(i) Use a different coloured pen to show the new combination of bananas on the graph you
have constructed for part ().

(iii) Now, what has happened to the potential output of peanuts?

(iv) Give an example of something which could cause a shift in the frontier in relation to bananas
(remember the two key points which cause a change in potential and try to apply them to
this example).

(v) Suggest something which would cause the entire frontier for peanuts to move to the left.

(vi) On the graph, mark the combination of 80 peanuts and 30 bananas. Call this point A.
(vii) Comment on Farmer Finnegan’s efficiency at point A.

i) Itis discovered that peanuts have the potential to increase life expectancy. Will this shift the
production possibility frontier for peanuts? Explain.

(ix) Farmer Finnegan decides to respond to this news by increasing peanut production from 80
to 150 units. Is this physically possible? Explain.

(x) Farmer Finnegan changes his production combination from point A to 30 bananas and 90
peanuts. Label this point B.
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(xi) Comment on the opportunity cost involved in this move.

(e) Respond to the scenarios given below by drawing a new graph for each scenario.

Sheep
u

Goars
Note that point A on the graph shows the combinations that are currently being produced.
(i) outbreak of severe sheep disease

Sheep
V

Goats

(i) the high-fat content in lamb is said to contribute to obesity

Sheep
u

Goats

(iii) ~ the price of goat meat rises

Sheep
u

Goats

(iv) forests are cleared for agriculture

Sheep
u

Goats

(v) goat cloning discovery is announced.

Sheep
\/

Goats





 


 


 




     

